STEPITUP!( 1)

NAME
5+5- 10 3+ 5 -8 11-3- 8 2x9= 18 2x25-50 3:3- |
9+9=- 18 6+ 7 =13 12-9- 3 5x2= |0 2x20-=w0 9+3=- 3
L+11= |5 | +u=5 17-u= 13 7x2= 4 50 x2=100 15:3= 5
3+L= ] b +7-11  8-1= 7 10x2=20 30 x2-60 2+3- 8
6+5= || 8+ 5 =13 8-5- 3 1x2= 2 2xLQO =80 21:3-=- 7

NUMBER & PLACE VALUE
Write the number and the number words.

twenty-five
thousand and one

25 00l

thirty thousand, six
hundred and seven

30 607

E Double one factor and halve the other.
Then write the answers.

15x6= 90

is the same as

30x 3 -90 9 x60-540

18 x 30 = BHO

is the same as

8
)
Q
<
<
w
n
=
S
=

1L x 25 = 350

is the same as

/7 x50 =350 30 x 30 -900

60 x 15= 900

is the same as

16 xu5= /20

is the same as

8 x L5 = 360

is the same as

L «90-360 8 x90-720

MONEY ¢ FINANCIAL MATHEMATICS

Calculate the cost of buying 5 tickets.

WATERWORLD HASER SEEK
$65 $39
$60x5=300 $30x5=150
+3$5x5=25 +39x5=45
Total $ 325 Total $ |q5
SCRIZAS/];AND HORsE$ (ESELAWAYS
$90x5=450 || $50x5 =250
+$9x5=45 || +$4x5=20
Total $ '-I-C?S Total $ 270

Draw the extra coins to pay the exact amount.

@(

$2.30 more)

®
($2.15 more)

- D
($3.55 more)

You can use a place-value strategy to multiply.

For example, when you see 6 x 35 think 6 x 30 plus 6 x 5 =180 + 30 = 210.




X Answers will vary.

usiNG UNITS OF MEASUREMENT

B Convert these measurements.

%of1m> 5O o

%of1kg>500 g

%Of 1 d°Y> |2 hours

%of1cm> 5 mm

Zof 1L > 500 mL

%of1km> 500 m

Write the times that are shown.

é % of 1 hour> 30 min %ofé weeks> 2| days

W

§ u Year 5 Camp Timetable

w 7:30 a.m. Breakfast

3 8:15 a.m. Surfing

- 10:15 a.m. Morning tea

% 10:35 a.m. | High ropes course

5 Noon Lunch

g 1:15 p.m. Raft building SUAPE
N 3:00 p.m. Swimming

E’ E Draw a line to connect each 3D object to its net.
.3 a.  Whatis happening at 10 a.m.? Surﬁng

[E——
+
1
1
1
1
U

b.  Which activity takes 45 minutes? Brea kfast
Afternoon ] N

c. lIsraft building in the morning
or afternoon?

d. If the students stay in the pool
for 1% hours, at what time will
they get out of the pool?

L4+:30 p.m.

2 hours

e. For how long will they surf?

X b.

a. Roll aregular die 20 times and record
each result. c.

How many times did you roll an
even number?

How many times did you roll an
odd number?

Number rolled | Tally Total
: d.  Which number was rolled the most?
. e.  Which number was rolled the least?
oo f.  How many times was a multiple
°* of 2 rolled?
e g. How many times was a multiple
. of 3 rolled?

Look at the camp timetable in Question 6.

If you woke up at 6:50 a.m., how many minutes would you wait until breakfast? Colour one
bubble.
30 L5 35 4O R
@
PARENT/CARER SIGNATURE DATE




X Answers will vary. This is one example.

STEPITUP!( 2)

NAME
6+5= I 3+ 8 =11 w-1m=3 1x3=- 3  20x3-60 8:u= 2
g+9= |7 L 13-7 7-u= 3 3x6= 18 3x 13 -39 2:.-5
10+11= 21 6+ 6 =12 9-3=- 6 3x3=-9 3x Il =33 3+.- 9
2+3= 5 s+ bt -2 7-6- | g8x3=24 100x3-300 28+u= 7
12413=25 9 +10-19 8-3=- 5 s5x3-15 D5O0x3-150 a-:u- 6
NUMBER & PLACE VALUE * FRACTIONS & DECIMALS
Write a number to match each description. Write the matching decimal.
. i . 3 2 7
a. Four-digit number with 6 tens |26| =0 3 -0 L|. ~5 =0 7
b. Three-digit number with 2 hundreds 2L|'7
6 1 1
c.  Five-digit number with 1 thousand 3' 509 0. 6 = 10| 1O 5= > 0 | = 10
d. Five-digit number with O hundreds 60 OL|'| 9 L L
0709 5 mo8 ook
E Write these numbers.
62 370/3+ 79025 389 0.8 =102 == 05
&[ 62380 3L800 25399
a 100 more |62 L8034+ 90025 499| 18 IIO B Write decimals in the boxes.
\V}
&g [100less | 49 02//55999| 18 967 |37 708 .3 (L5 .8
w L9121 56099 19067 37 808 . I I N
o N 7
iy [100omor] 501215709920 06738 808 T - T . ’
= . . .
g Write each list in order from greatest to least.
PATTERNS ¢ ALGEBRA
43 000 30199
u Work out and write the unknown amounts.
149 099 30919
23+ 36 =59 23+ 23 =92-u6
49 589 | |EEEE 31 099
- 19 =us 75- 13 =s56+6
51499 31909 1 *
5| 600 31990 76+ |7 =93 L7+ 22 -8.-15
B 55 327 39 0I9 82- 45 -37 97- 10 =59+28
55'-|-OO 39 09| 61+ |9 =80 32+ 12 =61-17

n The reflection of a shape looks like the shape has been flipped over an imaginary line.




X Answers will vary. This is one example.

UsiNG UNITS OF MEASUREMENT
Convert these lengths.

10mm> | a 1cm > |O e

100 cm > | e 1 km > |OOO .
. > L|, o ol o > 2L|.O - six minutes to five

m Write each time on the digital clock.

eighteen minutes past seven 7 : |8

I I 3L|' eleven thirty-four

: arter past five
o | 4000 || 2™ )2000m 2.1 querter pas i
§ E Measure and write in millimetres. * LOCATION ¢ TRANSFORMATION
g a.  Width of this page 210 mm Draw the reflection across the blue line.
w . . . ‘vr .
"8 b. Length of the TV remote control 160 mm . . . ol . . e .
3 L\
m . ° . . o . L—A .
S c.  Width of your pencil 7 mm
(4
% d. Heightofajar 80 mm . o o e ol _I — l— .
<
g e. Thickness of your reading book |3 mm : ’ ) 1 - )

n Write the mass in grams.
ol || o

(b %2
[

25009||3500¢

Each @ on this dot plot represents one dealer.

a. How many dealers sold cars? |7

b. How many dealers sold more
than L cars?

c. What number of cars did most
dealers sell?

i

d. How many dealers sold fewer 7 0 1 2 3 L 5 6 7

than 3 cars? Number of Cars Sold by Dealers on a Weekend

Which shape has 3 acute angles inside? >
Colour one
bubble. »

@ @) O @)

PARENT/CARER SIGNATURE DATE




X Answers will vary. This is one example.

STEPITUP! (3 )

7+8= 15 13+ 15 -28 17-15- 2 uxu=-16 ux25-100 5:5- |
9+11=20 26+ |7 =u3  u-2- 2 7x4=-28 ux|0O0O-u00 30:5- 6
L+12= 16 Il +1u=25 s-u= 2 Lx1= 4 20 xu-8 uwo:5- 8
13+i=27 |4 +17-31 16-6= 10  uxe=24 |l xu-w s0:5-10
16+15= 31 18+ 25 =13 13-11= 2 3xu= 12 ux 2| -en 20:5- L4t

NUMBER & PLACE VALUE FRACTIONS & DECIMALS
I8 Write the number shown on each abacus. Write how far away each decimal is from
the nearest whole number.
O.l oL 0.2 |OkL
0.1 0.6 1.2 1.6
pal o I T R R o AN
N i i N i i i N | i i i N LI
20 /33 64 713 0 T T T
0.l 0.9 1.5

o4 |ol 05
B Shade the fraction. *
419 302 2528 . o F

3
W
9
;t\ E Write the numbers 100 less and 100 more.
I [1001ess 58 29824 86239 952(79 824+ L Z
% 58398 2L962 L0052 7992L
=
100
g more |58 1498]25 062|140 152|180 021 MONEY & FINANCIAL MATHEMATICS
Use a nearby fact that you know u Work out the change from each purchase.
to help complete these.
Lxs5- 205 6x39- 234
Buy all of these. | | Buy all of these. | | Buy all of these.
Lx29- |16 31x9- 279 y y y
- 0
sx71= 355 | mx9- 261
28 x L= 112 sxug= 288 Change Change Change
s5x32- |60 22x7- |54 $2.75 $9.70 $245

You can use a nearby fact that you know to help you work out the answer for
a multiplication problem. For example, when you see 61 x 5 think 60 x 5 plus 5 more.




X Answers will vary. This is one example.

UsiNG UNITS OF MEASUREMENT SHAPE
List some other objects or distances that m Draw a shape to match each label. *
are close to each length. *
30 mm 3m 1 km
I L times round
paperciip room the oval
eraser car bridge
50c coin | snake runway }
- exagon octagon
§ bottle cap| fence |racetrack
% E List some things that match each length. *
g A little less than 30mm | A little more than 1000 mm
v fingernail desk
2 lolly bicycle
. H drilateral t
] | sewing needle guitar auadriotere penagen
y o
C rt these lengths.
0 onver mese lengme GEOMETRIC REASONING
g 13 cm |3O mm 185 mm |85 cm Draw a line to complete each angle.
P
Mark each angle with an arc. *
21 cm 2'0 B 150 mm |5 e
56 cm 560 mm 25 mm 25 cm ﬁ\ \Q\ /0\
85 cm 850 mm 750 mm 75 cm
15.5em |55 mm 20T mm 20' cm acute angle obtuse angle right angle

Use this table to complete the dot plot.

Number of Goals Scored | Tally of Players

Il
il

6
5
L 1l
3
2

1 |

0 1 2 3 L 5 6 7

Number of Goals Scored

Two cars were sold at auction for $8450 and $4190.
How much money was raised?

Total $ |2 6L|'O

Write your answer

in the box. »

PARENT/CARER SIGNATURE

DATE




X Answers will vary. This is one example.

STEPITUPIC 4
13+7=20 6 +u=10 15-3= 12  5x4=20 s5x |l ses6= 9
w+2= 16 13+ 7 23-12= |l 5x7=35 5x20-=100 36:6=- 6
29+11=-40 6+ 8 38-17=- 21  5x1= 5 5x50-20 18+ 3 -6
29+2:=-53 12+ 8 36-12= 24  s5x3- |5 12 -60 L8 +8-¢
15415=30 2 +15=17 41-15=26 5x10=50 5x30-=150 w2+ / =6
NUMBER $ PLACE VALUE |s a mu|t|p|e of

—
Write these numbers. s a foctor of
fifteen thousand, two hundred
thirty-nine thousand, is a f°Ct°r of
seven hundred and twenty-four 3q 72L|.
seventy thousand, FRACTIONS & DECIMALS
one hundred and seventeen 70 | |7 ‘ . _
a. Connect each fraction and decimal to its
forty-two thousand, position on the number line.
six hundred and one L|.2 60|
1 T o 3 2
sixteen thousand and five |6 005 S 2 S 5 S5

§ E Look at this log book of kilometres travelled. <= :\ : . . I N

% Date Start Finish Total km 0 1

58 | 6Uan | 68971 | 69002 3| <

2 7Jdan | 69002 | 69117 115 :

% 8 Jan 69117 69295 178 b * Write 3 pairs of equivalent fractions from above.

= =

51 | 9Jan | 69295 | 69334 ssee| | 1 Ly

= . : 39 8338 5 =02 D =05 5-08
a.  Write the kilometres travelled each day.

b. How many kilometres were travelled
altogether over these L+ days? 363 PATTERNS ¢ ALGEBRA
Write the missing factors and multiples. H Write the missing numbers in each pattern.
X zlelmyiplslof 9,18,27, 36, 45 , 54 63, 72
is a factor of
— L, 8 .12 16 20 24, 28, 32
is a muItlpIe of
re—— 3| 7, 2l 28 35, 42, 49, 56
isa factor of
s o muliple of 6,12, 18 2, 30 ,36, 42 . L2
- is a foctor of n 8 , |6 , 2L|' , 32,140, L8, 56 , 6L|'

The multiples of a number are the numbers you say when you start at 0 and count in
steps of that number. For example, the multiples of L are L, 8, 12, 16, 20, 24, and so on.




X Answers will vary. This is one example.

usiNG UNITS OF MEASUREMENT

u Convert these times.

3 days > 72 o

'Iminute> 60 sme

6fortnights> |2 —

2% mins> I50 sec

1 year >365 days

13 yeors> |8 mth

LOCATION & TRANSFORMATION

E Draw 2 different shapes that you can make with

* 6 copies of this shape.

:

F\\

) L] . . L]
& 1% hours> qo min | | leap yeor>366 days
m . . .
§ Draw hands to show the time on each clock. . e ¢ e e e & e
@ L] . . . L] . . .
w Py pr— P
‘~ =:l :{I:' . . . . . . . . ) . . . .
S R
w
5 e GEOMETRIC REASONING
g }DE n Loop in red all the acute angles.
2 Loop in blue all the obtuse angles.
w
(RN
945 ~

N—

unlikely

a. agreen marble
Imagine you take a

marble out without looking. b

bl bl
Choose and copy a label a blue marble

likely

to describe the chance of ‘ . .
Eokine ovt thees metblos. O c. ayelowmable  Impossible
. a green, blue 5
likely ‘ . ‘ or red marble certain
impossible  certain e. Write colours to complete this sentence.

even chance unlikely If one gl’een marble was added to the bag,
‘ . ‘ gl’een and red would have an even chance.
Which fraction is equivalent to the fraction that is shaded? !
, : 5 . i Colour one
I 3 3 s E i bubble. »
o .
PARENT/CARER SIGNATURE DATE




STEP ITUP! (5 )

NAME
36+5= 4| 53+ 18 =71 33 -16=17  2x6= |2 O x6=0 56:7= 8
78+9=87 B4 +23-77 ws-35-10 6x6=36 6x |0 =60 70O :10=7
W+ul= 8l w+26-=72 24 _-13=11 sx8=-48 2 x6=72 63 :9-7
L2+13=55 e+ b4 =72 w_-32-12 sxu=24 || xe=66 28+ 4 -7
62+23=85 69 +10=-79 3l -17=1.  7x6=42 6xl00=600 35+ 5 =7

NUMBER & PLACE VALUE Complete these factor trees.

Write these numbers in words.
2.328 twenty-four thousand, three /e\ /e\
hundred and twenty-eight 6| ~ L L] o9
7~ /\ 7~ /\
30541 thirty thousand, 2x3x2x2 2x2x3x3

five hundred and forty-one Halve these numbers.

s8807  sixty-eight thousand, @ )l || % ) |5 || 7 )38
elght. hundred and seven 50 > o5 | [ > 51 | [ = > 7
3 elghty-four thousand, o )4 | [% Yus |[« ) 3
my and thirty-seven
3 E Write the numbers in the boxes. 128 > 6L|' 13 > 67 1o > 70
M B2 —f ooy e naicw wemiemeris
§ - B Calculate the change.
3 1
PP, o =
31220+ 31 221 $l0-6 $20-12
31219—1 $4+ - 80c¢ $8 - 30c¢
-T Change $ 320 Change $ 770
1
sasf 24| e | 2
1 $I5-13 $25 - 2|
24 T $2 - 95¢ $4 — 35¢
31210:\; 312l Change $ |.O5 | Change $ 3.65

n A parallelogram is a 2D shape that has exactly 2 pairs of parallel sides.




MEASUREMENT & GEOMETRY

UsiNG UNITS OF MEASUREMENT

H Connect each picture to the measurement unit
that best suits.

“w' : -
.

mL

Measure and label the sides of these shapes.
Then write the perimeter.

SHAPE

B Write a P inside the parallelograms.

=

20 mm
|l mm 18 m
|5 mm Perimeter 6L|' mm

12 mm

|6 mmf |5 mm

|8 mm Perimeter 6| mm

Byt

P

ﬂ Shade the equilateral triangles red, the isosceles
triangles blue and the scalene triangles green.

A p—

\ TA

Complete the picture graph to show this data.

Band Tally of Tickets Sold
u2 I

Jack Johnson MM

Lady Gaga I |
Jebediah I

Guy Sebastian M M

Tickets Sold for Concerts

I T=Lpeople

u2

Jack Johnson

bl
=

Jebediah

=
=
Lady Gaga ==
|
=

O 000

Guy Sebastian

|

What fraction of the total plane length is the distance

from the wheel to the nose of this aeroplane?

—
[o

1
2

1 1
N 8
@ ® o 2

()l

yd AN
N 7

Q
Colour one
bubble. ,

PARENT/CARER SIGNATURE

DATE




STEPITUPI( 6 )

10+38=48 29 +18-w7 71-13=-58  7x2- b |l x7-77 32:8- L
36+3=39 1w+ 6l =75 72-9-63  7x6-42 20x7-10 eu:8- 6
68+20= 88 12+ /3 -85 77-1.=-63  7x3=- 21 |2 x7-8 72:8- 9
20+73=93 89 +10=99 28-11= 17 7x10=70 |00x7-=700 2u-8- 3
19+15= 34 16+ /7 =93 28-25- 3 7x1= 1 BO0x7-350 wus=8= 6

NUMBER & PLACE VALUE Draw lines to match the numbers.

Draw beads to show the number. Then add 1 |

more to the red digit and write the new number. é tenths 100 hundrediths |
2 tenths 2 tenths
[ = 9 hundredths |
29 hundredths |
| 43 hundredths
60 hundredths |
| 20 hundredths
L tenths
TTh Th H T Ones TTh Th H T Ones | ! 3 hundredths
New number New number
|8 6gL|. 2L|, 363 Mark these decimals on the number line.
o oee0 \OTHI %1 \%1
§ pal| L L L l L L L L | L L L L l L L L L L\
Q S——— +—+ 1 o+t 1) 1+t =7
w 0 1 2
V]
)
<
w 1 ) ) ) 1 1 ) ) )
TTh Th H T Ones TTh Th H T Ones
l% New number New number
% 39 8L L6 990 MONEY & FINANCIAL MATHEMATICS
g B Calculate the cost of buying 5.

FRACTIONS & DECIMALS

X 80x5 Q 30x5
E Write the missing numbers to match the picture. ® + : +

s
tenths and hundredths 6 X 5 2 X 5
is the same as Total S L|'3O . |6O

33 hundredths

Q0 x5 ,.\ '-rOx5

e
5 Errer| 7 e
rtond 7 i 6x5 25
IS e same as
57 hundredths Total $ L|'80 Total $ 2'0

A scalene triangle has no sides the same length. An isosceles triangle has at least 2 sides
the same length. An equilateral triangle has all 3 sides the same length.




usiNG UNITS OF MEASUREMENT SHAPE

H Write the digital time and loop a.m. or p.m. E Draw 2 scalene, 2 isosceles and 2 equilateral

triangles.

a.m.
evening news @ LOCATION & TRANSFORMATION

n Draw the shape after making the turn.

Match the times. .

ten minutes past L

MEASUREMENT & GEOMETRY

twenty-six minutes
past eight

three fifteen

twenty minutes to eleven

quarter to three

three-quarter turn right

Day Number of Sandwiches Sold
a. Use this data to complete the table. I 35
Sandwiches Sold at the Cricket 2 5|
Day 5
Day L 3 22
Day 3 LI- 60
Day 2
Day 1 5 30
0 10 20 30 L0 50 60 b. How many sandwiches were sold in total? |C?3
How many acute angles are inside this shape? >
Colour one
11 5 6 8 bubble. »
@) L O O

PARENT/CARER SIGNATURE DATE




STEPITUPI(T)

23+27-50 76 +2.-100 100-ws-56 sxs-64 3 xs-2 us5:9- 5
3.+32-66 23+ 67 -90 100-67-33 8x6-48 5 xs-w0 72:9- 8
9+11=60 36+ 35-71 100-55-45 uxs-32 9

59+1= /3 u2+38-=80 100-21=79 8x2=16 7 x8=s56 90:9= |0
35+35= /O 52 +15-67 100-92- 8 o0x8- O |0 xs-80 27:9- 3

x8=72 5L +9 = 6

NUMBER & PLACE VALUE Draw a line to show each position on the

Round each number to the nearest 100 and 1000. number line.
N
Nearest 100 |62 L+O0 [+ 90037 6001+ 300 75 b [——— 71
O U . ) ) U
Nearest 1000|62 000/ 15 000|98 000|+ 000 \
E Loop the least number in each box. = 1 I
17642 17609 17581 \
+6
5.9 p—— | 6.k
21424 21399 21401
< L9 Li21 L971L L9070 \
& 53 b | . 5.5
Q 4
9 9. 861 94002  9.3u8 (94000 /
3
| h pair, col the shorter distance.
w 60118 60 399 60 190 B n each pair, colour the s ista
& 2.09 m H 3.00m 472 m H 391m
Q
§ FRACTIONS & DECIMALS 6.05 m H 6.L8 m 2.90 m H 1.98 m
= Write these numbers on the expanders.
three and twenty-nine hundredths 345m H 508 381 m H &8 m

30 2|9 PATTERNS & ALGEBRA

3 ones 2 fenth q pundreding H Continue these counting patterns.

w16 18 20 22 24
! 31 33 35 37 39 L/
ones hundgedths
2.8 2 BN T T S P = P by
2 ol";Es 8 ten;ths 2 hundli&dths

185 190 195 200,205, 2.10

n When you compare and order numbers, look at the greatest place first.




X Answers will vary. This is one example.

USING UNITS OF MEASUREMENT n Look at these departure times.

Write hOW many minutes Until eGCh bUS |eGVeS. Depqrtures from Brisbane Airport

\ Wellington ~ 6:35 a.m. | London 3:46 p.m.
"'11 Bus leaves at L:00 | | minutes Mumbai 6:52 a.m. | Budapest ~ 3:58 p.m.
: Bali 7:05 a.m. | Berlin L:L0 p.m.
New York 7:17 a.m. | Samoa 5:15 p.m.
; Fiji 8:30 a.m. | Hawaii 5:55 p.m.
35 ; Bus leaves at 6:15 \- a. What is the destination of
it
> minutes the last flight before midday? FIJI
\S TN b. What is the destination of
g *\ Bus leaves at 8:50 15 minutes the first flight after midday? London
8 A c.  What is the time of the 635
9 earliest flight? B am.
w : d.  What is the time of the
- 28 minutes | Busleaves at 1:20 \: last flight? 5.55 p.m.
E e. How long between the departures of these flights?
S .
a 8 Complete the times. e Mumbai and New York 25 minutes
S -
-z . .
2 [ |L|' minutes to 2 e Wellington and Bali 30 minutes
w
L3

m Draw a shape to match each label. *
23 minutesto 3 all right angles inside all acute angles inside

'Eli'-IE' |8 minutes to |O

H::E” 29 minutes to | I

d. has an equal chance of happening in the
morning or the afternoon
Write the name of an activity to match. * gd bk th 'F N d
a. unlikely to happen tomorrow fl lng IKes Wi rienas
ﬂ . & P e. certain to happen on the weekend
ying to reru . ol
sleeping in!
b. likely to happen tomorrow f. isimpossible
getting the bus to school climbing a rainbow
c.  certain to happen in the morning g. isimpossible in summer
eating my breakfast making a snowman
% Clt-y Brisbane | Sydney | Hobart | Darwin Perth Write your answer
| Rainfall | 21t mm | 120mm | 87 mm | 382mm | 112 mm in the box. ’J
\n
w
~

Look at the table. Calculate how much
262 mm

more rainfall Darwin had than Sydney.

PARENT/CARER SIGNATURE DATE




STEPITUP!(8)
12+17=29 |7 +17-3c 100-77=-23 9x.-36 9x 6 -s. 100+10= 10
16+21= 37 15+ |6 =31 100-33- 67 7x9-63 3 x9-27 20:10- 2
13+1=27 16 +16=32 100-55-45 9x3-27 9x 2 -18 e0+10- 6
w+15=29 13+ 27 =wo 100-28= /2 8x9=72 10 x9-90 90-10= 9
15+12= 27 26 +15-11 100-88= |2 9x0= O 9x 5 -us 70+10- 7
NUMBER & PLACE VALUE FRACTIONS ¢ DECIMALS
Complete these. a. In each pair, colour the greater decimal.

352 267 237 L7 A L7 692 W 629
Lo e e e 282 M 291 133 i 123
ALt | 825 706
369 M 3.9 323 W 332
w e 2 e 5 o8 b. Look at the decimals you coloured above.
+ 2L9 + 378 + L 7L Write them in order from greatest to least.
685 ALtLt 842 6.92 L.71 396 332 29l |33

3 BA Add these cricket scores. MONEY & FINANCIAL MATHEMATICS

@ 138 + 8L mmmmm 8+L =12 Calculate the total cost.

= 130 + 80 =210 $3.95 + $L.95 $3.25 + $11.95

o | 222 $3.95+ %4+ |  $325+$ll

g 67+ 241 W 7+1=8 $7.95 +95¢c| $I4.25+95¢

S | .. 308 ©60+240=300 Total $ 8.90 Total $ 15.20

$8.85 + SlLi5 $14.55 + $3.85
., IZ : > ;g $8.85+ 34 |  $It.55 + $3
Total 254 $12.85 +45¢ | $17.55 + 85¢
212+98 mmm» D +8=|0 Total $ 13.30 Total $ 18140
ol 310 210 + 90 =300 $22.15 + $6.75 $35.35 + $2.95
$2215+%6| $3535+%2
784137 mmmm 8+7=15 $28.15 + 75¢ | $37.35 +95¢
o 215 10+130=2001 | 1¢5890 | 1w $38.30

You can use a round-and-adjust strategy when adding amounts close to a whole dollar.
For example, when you see $3.75 + $2.95 think $4 + $3 less 30c = $6.70.




)
-
3
N
V]
w
s
3
&
e |
2
)
<

usiNG UNITS OF MEASUREMENT

B Convert the masses.

ks ) 000 /| **s ) 500 g
0005 ) 3 ig|| 2k ) 2500 g
o ) 250 g | 09 ) 31 ke
25009> 25 g 7509> % kg

H Complete the timetable to match these times.
* Trains depart Versay every 20 minutes.

e The train to Wright takes 8 minutes.

e The train from Wright to Ivers takes 7 minutes.

Trains from Versay to Ivers

Versay | 1223 | |2:43| |:03 | |:23
wright | [2:3] | 12:51] I:1I | .3l
vers  112:3812:58] 1:18 | |:38

Draw a line to show where each amount
is on the number line.

B Write these amounts in millilitres.

3LL 1.6L
is the same as is the same as
3400 mtL |600 mL
09L 21L
is the same as is the same as
900 L 2100 mL

SHAPE

n Name the 3D object for each net.

(triangular-based)

cylinder

pyramid

C

O

200 mL 500 mL 750 mL 1300 mL
'\ /' / /' cone
pa| 1 1 1 1 1 1 1 | 1 1 1 AN
ST+ —+—+—+— Tttt 1
oL 1L
Chocolate Sold in Week 1 @ - 10 bors
Complete the picture graph to show this data.
Students Tally Eve e @
e | T T T vox | (@18 | @) | @)
Max MMMMMM *3
3 |Leuis | 6 GO @@ @
Louis M AW &
Elli
Elis | JHT JHT JHT JHT i Rl B
Ruby MM A I A Riby | @@ @@ @
Look at the wallet. What other coins are needed to make $507
Colour one
| " | " bubble »
Pl o, P
B o
T\;,,' AV, j/o](
PARENT/CARER SIGNATURE DATE




NAME

STEP IT LIP/ (s

8
w
Q
<
<
W
i
S
S
<=

NUMBER & PLACE VALUE

Write the numbers more or less.

B Write the number or number words.

three and thirty-seven hundredths I 337

E Write the number in each box.

37 60—
«—B7605
-
—— «—B7600
37 597——
ST —137589
~ts5_ 1< B/58k
37 580

Complete these factor trees.

O

6| x 9 6| x 6
7\ '\ VN '\
2x3x3x3 2><3X2><3

FRACTIONS & DECIMALS

Draw lines to match the fractions and decimals.

50 hundredths

13 hundredths

70 hundredths

Tless |65 348(3| 598|58 299129 008

65349 31599 58300 29 009 one and sixteen-hundredths —1 .16
10 more 65 35q 3| 60q 58 3|O 29 O|q two and fifty-nine hundredths —1 25q
100less |60 326/33925|17 848 | || 900 .

— T T T six and eleven—hunolred’chsEé-11
1000mere| 61 1412635 025/ 18 948[13 000  [two and three-hundredthsk 203

seventeen-hundredths r0-17

MONEY & FINANCIAL MATHEMATICS

u Calculate the total cost.

&0

*

Milk 9

Total = $ |5L|'5

® $5.90

11'

Total = $ 7.C?5

K

Total = $203O

PATTERNS & ALGEBRA

Write the multiples of the first number
to complete these sequences.

© s 5> 121518 21, 24

@ = 33 44 5566 77.88

® 38 12, 6, 20 24 28 32

© 4+ 2 28 3542 49 56

© 10,1520 » .30 3 4O

7 tenths 0.5 r——«
6 tenths
3 hundredths 0.63
5 tenths 0.7
1 tenth
3 hundredths —— 0.13 63 hundredths

© ¢ 2 36455+ 63 72




X Answers will vary. This is one example.

UsiNG UNITS OF MEASUREMENT SHAPE
E Convert these lengths. m Draw each triangle. *

1cm> IO mm 1m>looomm equilateral
0em )LOO mm | | 13 ) 35 am
=AY AN S

n In each shape, all sides are equal. 3 Shade the parallelograms.
a Calculate the perimeter or side length.
g A
§ The perimeter = 48 €M
w
(U} Length of one side = |6 cm
w LOCATION & TRANSFORMATION
‘é The perimeter = 960 cm Shade these squares. L .
3
b3 de = 240cm
§ Length of one side = ?
2 (1Y) Show the time on the clocks. m ABCDETFGH
3 : : R : :
e GEOMETRIC REASONING
.17 m Use different colours to label the different types
C-1l of angles. Then record the number of each type.
O O
m Make these conversions. Acute = |6
1400 mL 2500 mL )
is the same as Li-OOmL is the same as Right = 8
is the same as
|4 L oL L 25 L Obtuse = &
u| r
Choose and copy a label to describe each event. Look at this dot plot.
* slim chance no chance

50/50 good chance definite

Bus breaking down tomorrow. Sllm Cha nce

Sun rsing in the west. i) Chance Nunc')\ber ;f ijrds cheiv:d by 3ec|r 56Stud7ents
:(r:ILSeiiieuinbdel?nd . 50 / 50 a. How many students received 3 awards? 5
You will look in a mirror today. qood ChanCe b. How many students are in this class? 2'
The bell will ring at school. definite < :Z\;Ver?l'?;z ;t:\(/:lvzr:;ss;eceived 7
The computer will start up. qood chance d. ]ZSVV(\;::EQZ itzev?l"gsgeceived 1L






